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100m |8 @& (2 11.03 [#EHE HEE  (3) 1171 (%% il (1) 11.99 [P =& (2) 12.05 |ftiE & (2) 12.12 B (1) 12.23 |7HE %k (1) 12.45 | AR (1) 12.47
A B 2.4 |EHTHE +2.4 |FEkEE 2.4 |FiAEE 2.4 | EHE 2.4 |EHE 2.4 NES 2.4 | EHE +2.4
400m |MEE FEE () 53.74 [P BE(2) 54.43 [%&H (@ 55.32 |7FiE R (D) 57.20 % kM (2) 57.26 [JEHES P (1) 57.45 (A E A (D) 57.60 [JEES & (1) 1:00.81
BHLE Fihk i) /N RIFLaE | | IsTina]
1500m [#iK BEKEE(2) 4:18.01 | Kix 4:22.14 [ KN (2) 4:30.42 |[FrH THL (2)  4:37.17 | EOF 4:38.16
i) 7 1 A i) o] 5 15 A )
5000m [BECO BRI 15:18. 77 | ThiT 16:15.40 [#6K BEKHER(2) 16:22.46 |#fE  KiF 16:30. 51 |#ff: Bt (2) 16:46.08 |#k 1 16:51. 36 A I 16:54.38 | A (2) 17:10.79
[t P 5 Mg 1 NGR | P 5 g e SN 14 1 5 RIHLE 4 1 15 74 1 15 RItE
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Mk EHLE
A Bk &l EE ) 6ml0 |Eif ikt  (2) 6m09 |4 —A  (2) 6m03 A 1524 (1) 5m84 B mth (1) 5m77 |H o WA (2) 5m57 |REIL ECE (2) 5m25 |MEEL P (2) 5m23
I T -3.1 |mkE +0.4 /NEE -2.1 |[RIFLE -2.1 |RIFs -0.8 |RIFLmE 2.7 |RIFLmE -3.2 |RRRE -3.8
fi AL R (D 8ml2 |fefiE  BEMt (1) ™73 |fFEE BA (D) Tm70
(6. 000kg)  |RIm il /INE
U ek B (3) 45m15 [ —A& (2) 43m05 |[GHEE 5 (3) 38m19 |4 o (2) 37m25 [-H " (3) 3Tm02 [BLAf Rz (1) 35m42 [Hr%F KA (2) 29m75 |fHiE BA (1) 28m44
(0. 800kg) RIFLE /NE RITE I RIFTE /NE ek /NE
w1 100m |JEER g (D 13.05 |k HfE (D 13.33 |k & (D 13.43 | BEKEE (1) 13.56 |#TH  FEA (1) 13.84 |#%E FX (1) 13.99 [Fl fEik (D) 14.06 |fili  HA (1) 14.08
RIrmT +2.2 /NESP +2.2 |AES +2.2 |AES +2.2 |AES +2.2 | +2.2 |RIFFH +2.2 | R +2.2
wo. 3 100m |HH &% (3) 11.40 |4 B2 (3) 11.65 |/hith sk (3) 11. 68 |fEjk 7% (3) 12.03 [#EH 4 (2) 12.21 |Eifs sz (2) 12.57 |FHA 7% (2) 12.74 |43 BAL (2) 12.77
’ RIAeH +1.9 =GR |/NET +1.9 |/NEF +1.9 |/NEF +1.9 | RIFmT +1.9 | BRI +1.9 |AET +1.9 |RIHET +1.9
. 800m |JEE A (1) 2:33.29 |#&#E Mt (1) 2:38.55 [JAMA BAHE (1) 2:40.09 [OHEE BE (1) 2:44.13 [FrH ERE (1) 2:44.24 |BRlF O BEKES (1) 2:45.04 [fE¥F KA (1) 2:48.98 |JHiE B (1) 2:50.57
ANEL RIFrd R /NE Jein Kk /NE i
800m |& m7E (3)  2:10.99 |JEER MO(3) 2:14.66 | R XEE (3)  2:16.37 \FRE wAy (2)  2:23.44 [ #CGE (3) 2:24.03 |[fERE HERL  (2)  2:32.78 [7EEE Efh (3)  2:39.48 A HEFH(2)  2:42.52
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’ 3000m |HE&E A (2 9:51.31 [LHEMESF (2) 10:00.09 |4  ZK (2) 10:01.30 [#ED #CGE  (3) 10:14.39 [EME Bt (2) 10:53.84 [fiE HERL  (2) 11:21.80 [FRH Bkt (2) 12:49.81
BRI R /NE R ik RIL RIL
110mH |SBERES B 16.76 [79iE  HRik  (2) 18.89 75k (s (1) 20.30 [ B (D 20. 57
6/12|  (0.914m) |/ 0.2 | Bt 0.2 |/NET 0.2 |EJmd 0.2
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ANEF +0.2 |/NESP -0.2 |/NEp +1.0 |k +1.1 A& +1.1 /hEP -0.5 |k +0.8 | fip +0.7
fil AL A HE (2) 6m93 [EfE B (2 6m59 |4 f&E (1) 6m33 [ (2) 6m02 [Fefk Bk (1) 5m75 [gn A (& (1) 5m66 [HH (1) 4m85 |7FE HEC (2) 4m41
(5. 000kg) FUE EHmT T FHLT EHmT RHEh R NG
4 100m |[HEE o (4) 16. 41 fifE WX (4) 16.58 [JIF ZHA (4) 16.61 [ E Bak () 16.95 € H ) 16.96 [#A-Jal AR (4) 17.14 [l gk (4) 17.14 [FA g (@) 17.86
FHA -2.6 | FHjr. AC -2.6 |FJEPERE |- -2.6 | -2.6 |GHER/N -2.6 |fREEE -2.6 SRR/ -2.6 |FERRTA)-} -2.6
5 100m Pk HE (5) 14.86 |mifs AE (5) 15. 14 | FA (5) 15.75 | ¢ &4 (5) 15.99 M| o (5) 16.00 Il k& (5) 16.22 \fefE EZ (5) 16.49 e 7 (5) 16. 54
BREEIRLSE -3.1 |/hEEE L -3.1 | R -3.1 | R -3.1 | R -3.1 | P/ -3.1 | AETEpE -3.1 | PHERD -3.1
6 100m |fif¥F FE (6 13.84 (=2 @ (6) 13.93 | 9 (6) 15.05 /b Kt (6) 15.05 |JEH8 4 (6) 15.12 | ZFR+ HFH(6) 15.46 | KM $S (6) 15.46 |~FR ifE (6) 15. 50
ks -3.5 |/INE/N -3.5 |FIHAC -3.5 | BEFOHX -3.5 [/NE/N -3.5 |[RJFjr.AC -3.5 [ RN -3.5 |Fmk/)s -3.5
1000m [&H Z& (6) 3:19.79 [fEx K Z&&(6) 3:24.62 [REH FEAd (5)  3:25.21 [sgHh EEHh (6)  3:29.84 [ARiE MEA  (6) 3:31.16 [EAL Bt (4 3:34.40 [FFAT mEFn (5)  3:34.52 IO EE  (6)  3:37.21
ik FI FIkjr. AC FI N FIh - FAC SN
80mH |7k JtE (6) 15.23 |7Efk  fRIER () 16.54 (|l £ (5) 16.62 |R@E i (6) 17.27 /M & (6) 17.36 |1l 3§ (6) 17.63 |k 1B (5) 17.80 |EH k& (6) 17.94
(0. 680m) fak 5/ -0.2 | EH/N -0.1 |FiEs)s 0.1 |BRFLHS -0.2 |EI5AC —0.8 |PEFRTA)-} —0.8 |PEFRTA)-} -0.1 |fii 5/ -0.2
4X100m |FERE/NN 56. 74 | FJf/NA 58.06 | B ==7 59. 42 [EHAC 59. 62 [/]NElfE EA 59.70 [#EFITRH S 59. 73 [/NE/I 59. 85 | J/I\B 1:00. 27
& R (6) NGR| KM B (6) il EME (6) Eif B (6) gk A (6) Bai o (6) T % (6) S B (6)
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AN i g (6) wiEg - (6) T W (6) I B (6) Ve &t (5) KB WEHE (6) I WE (6) s A (6)
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FE K #E (6) 3m84 |FEfk Wl (6) 3m78 [fefk A (6) 3m74 (g8 AR mEE (6) 3m56 M L (6) 3md9 [EEF E (6) 3mdd | H BEK (5) 3mdl (MR K (6) 3m37
BN 2.1 [FRi) +2.7 /NEEEE +2.2 | +1.7 | RIHD +3.1 | PEARTA)=b +0.8 | I5AC +0.4 | FIFN +3.0
&k WH WA (6) 1m35 R &R (6) 1m35 | & @& (6) Im30 |H= 4Lz (6) Im25 [$2H  #EFH  (6) Im25 |ffEd BAE  (6) Iml0 |4:H R fikH Im10
AN NGR |/IMEBE E NGR | St jr. AC Fei/ PERRT )=} FH Ak B B
ViaaT s - | RiE A (6) 52md4 R 2k (6) 4Tm02 |EH A (5) 46m65 (g AR EA  (5) 44m00 | L #UK  (6) 43m94 |gaAR K (4) 43m69 | B By (6) 43m52 |58 Egt (1) 43m29
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TF EHATE LGRS
Aff fEH 147 2{if 34 447 5L 6 iz 7 8L
100m |fHE #E (1) 13.84 [BRIL RE (3) 421 Ul #+ (D 14.28 | KiWg  HFIHK (3) 14.28 |57l B (D) 15.29 R[] JR¥E (D 15.54
EHeE +2.2 [ KRRTH 2.2 | RS +2.2 | TRk +2.2 | BHE +2.2 |EHmE +2.2
800m | KW FFIEK(3)  2:30.47 [feiE FEF (1) 2:39.34 [/NBE Bk (3) 2:42.27 [BE®E (EE (1) 2:49.01 [RUJII A (1) 2:56.46
T R e R S A
. 3000m |fEiE HE (1) 11:42.78 |2 #HE (1) 12:25.50
s - .
R R
ARk RE IRFE (D 3m60 [SFUE LiE (1) 3m45
FIE +0.1 | R +0.1
fiapu Fuilr BB (2) m85 i Bk (1) 4m37
(4.000kg)  |FiME ANE
i 100m EeE T (D 13.97 |7kJF  HEEL (1) 14.22 |[FHA L (1) 14.36 |FrE fiE2R (1) 14.63 | H&E (1) 14. 81 |fFILb A7 (1) 14.86 |FUJIL Fngy (1) 15.03 |gak = (1) 15.15
o +2.3 |/hEp +2.3 |AJES +2.3 | +2.3 | Rk +2.3 [/NEp +2.3 AP +2.3 |AJEp +2.3
Wo. 3 100m [fEd #E Q) 13.28 [fAk 39 (3) 13.55 (Bl &4 (3) 13.66 [ KA HHE (2 13.89 |48 A (2) 13.99 |5 AdrE )y (3) 14.04 [PFH HEE (2) 14. 06
! R +2.1 |RIHET +2.1 |RIFpH +2.1 |[AEH +2.1 |RIFpH +2.1 |[RIHES +2.1 |EJHed +2.1
01 800m | EA FJR (1) 2:37.74 kS BEERL (1) 2:38.06 |l OEWD (1) 2:4L 1L [FUI Fafp (1) 2:44.19 [BESE #EEY (1) 3:04.09
g NGR|/INH FIeH HEH A&
800m AR ERE (2) 2:27.43 MR BEZE (3)  2:35.74 (fMEE & (3) 2:42.81 |[HW EME (2)  2:46.02 | KA SRMEQ) 2:50.56 | OER (3) 2:56.35 [A% EiE (2) 3:00.41 A HiT (2)  3:07.30
wo g B SIET A A Rt SIC T N e
: 100mH [ #5  (3) 17.25 |/ T (1) 17.25 |[ffl #F Q) 17.31 |[afE HAE  (3) 18.98 |17H  HEZR (1) 21.00 /hH B (1) 22.14
(0. 762m) FIeH +0.8 |+ +0.8 |RIFRH +0.8 | RIS +0.8 | RJHEH +0.8 [/h[E +0. 8
A Bk L A B) 1md5 | bR FR (1) 1m35 |k Bk Bk 1m25 FA L A 1m20 S F7 NE 1m10
i g K BRFT /NE Vel EtE BRI &KEE L A
w612 A EBk H%iE ERE () 4m20 AR THE (1) 4m04 | FUE & (3) 3m99 FrEF &K (2) 3m87 |HA &AE Q) 3m71 (80K EF (1) 3m65 e Rax (D) 3m63 |EH ERE (D 3md4
g+ -0.6 |AEH +0.6 |RIFRH +0.8 | +0.7 | AJEF +1.4 |AJEp +1.7 | RBIed +0.2 |AJEp 0.0
fi fu% B = Q) 8ml5 [taEE AR (3) 8ml4 [[E #FEax (3) Tm68
(2.721kg) | RmF FIEH FIeH
4 100m [fuf £O@ 16.39 [k A (@) 16,47 |JEES BEER (4) 16.97 | TR HiE @) 17.21 Akl #r (@) 17.25 [k &4 (@) 17.27 [B4L & (@) 17.71 [JIR Bk (@) 18.02
18 5 e -2.2 /b[EPE L -2.2 |EJfjr.AC -2.2 |FREEE ) -2.2 [/NEpEE -2.2 |PERTA) -} -2.2 | R -2.2 |[RID -2.2
5 100m [&FE JFE (5) 15.80 |[feff  FUAL  (5) 16.42 [fH =1 (5) 16.66 |ZE EE (5) 16.85 ([ # (5) 16.85 | LA & (5) 17.01 |5k MEzs (5) 17.05 |1k #ZE  (5) 17.22
- FEART )b -2.8 |EEAC -2.8 |FAC -2.8 |FIEAC 2.8 |BEEIRHE -2.8 |FEPERE -2.8 |/hE/N -2.8 |FEHRTA)~h -2.8
6 100m [fl &4 (6) 15.21 |G B (6) 15.30 [l b & (6) 15.60 |fil Wb (6) 15.62 | TiHJal B (6) 15.96 &M FEfE  (6) 16.01 |fialle 22K (6) 16.38 | &l EE (6) 16.41
/N ERE -2.5 [/hNEpE - -2.5 |E3/h -2.5 |EAC -2.5 A%/ -2.5 |FEPERE -2.5 |EH/h 2.5 |fREE -2.5
800m |H#A FE# (6) 2:36.09 [FA bbH (6)  2:44.53 [MEE XX (6) 2:48.54 [WPRF mEE (6)  2:49. 13 [MEH: 2k (6)  2:53.25 |[EEF EE  (6)  2:53.32 [#hK WER (6)  2:54.05 [REIL 3 (6)  2:56.41
AN NGR| [ 6 v 22 | fEAC N fili FL/ N +EAC U — /1 FEART A) - b BN
80mH [|&A Liff (6) 15.31 |[RI% O FY 15.33 [JfH  #E&  (6) 165.35 [B4% T2 (6) 15.99 |[HE Efk (6) 16.33 [K&E Hk+ (6) 16.58 | HEfH (6) 17.52 |3 Hii (6) 17.89
(0. 680m) FHFjr. AC +0.4 |FIFAC -0.7 i/ +0.4 | +FAC +0. 4 | FEAR/) -0.7 BB -1.3 |f -1.3 |fii A/ -0.8
4X100m |FRik/ 1:00. 38 | I5AC 1:00. 39 |FFH/hA 1:00. 46 |/NFEFE_EA 1:01. 78 |EH/I\B 1:02.02 |[BRIIPLHES 1:02. 21 1:02.34 | BHva=7 1:02.79
s Em 6) M A Kig Ak (6) P AR (6) M L3 (6) s o (5) WD BRAE (4)
HE EEK (6) g OFEY YrH EEHE (6) g H @ gk Wb (6) BRI (6) HA L (6)
TN KA Ef (6) SN o mEE (6) [C s ) 1770 FdE (6) I EF (6) Eil Bt (5)
FitE B (6) £l @5 (6) ARSI ()} il E& (6) TR #EELh (6) P ER(6) HEE BIYR (6)
ARk S 3m88 #iAR WhH  (6) 3m75 | KA EfE (6) 3md6 |EEF BIF]  (6) 3md3 |EES  fEAHE(6) 3mdl |PrH - EiE (6) 3m39 3m33 |HHl BER (5) 3m01
HIFac +3.7 B +2.5 | AR/ +3.7 [N +2.5 |fE /I +3.8 | RH/ +2.5 +1.9 AR UL +2.3
A=k 4 By (6) 1m25 |HEEEEA  HOFAC 1m20 I (6) m20 |71 Z=F]  (6) Iml5 [HEd: £3% (6) Im10 Iml0 PRk 7w B 1m05
fili HL/ P TR MEEFRSS I RIS E RIFE FE R E
VN o v |l g (6) 38m06 | =i FAE4T(6) 3Tmdd (N FEE (6) 35m96 |HEH:  THE  (6) 34m02 (B g (6) 32m65 |22 = (6) 32m02 30m72 [fH%F  Eme  (5) 29m40
BH E3h PR AN il 5L EH/h /N E Fefs/s
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